Test Item Statistics Report

Question Summary Statistics Reliability
Question Points| Graded Correct Incorrect R No - P0|_nt Percent
esponse Biserial Correct

Question1 1 52 36 16 0 0.47 o2 I 43 |
Question2 1 52 47 5 0 0.35 90.3s NN |
Question3 1 52 51 1 0 0.11 08.08 NN
Question4 1 52 48 4 0 0.38 92.31 I |
Question5 1 52 39 13 0 0.34 7500 NN @2 |
Question6 1 52 44 8 0 0.53 s462 N |
Question7 1 52 34 18 0 0.40 653 MGG @49
Question8 1 52 44 8 0 0.58 8462 NN |
Question9 1 52 39 13 0 0.68 7500 NN @2 |
Question10 1 52 49 3 0 0.20 9423 NN |
Question11 1 52 41 11 0 0.41 7885 NN @2 |
Question12 1 52 47 5 0 0.16 90.38 NN |
Question13 1 52 37 15 0 0.34 71 I 32
Question14 1 52 18 34 0 0.38 34.62 1NN |
Question15 1 52 41 11 0 0.32 7885 NN @2 |
Question16 1 52 43 9 0 0.37 8260 NN
Question17 1 52 38 14 0 0.55 700 NN @4 |
Question18 1 52 49 3 0 0.28 9423 NN |
Question19 1 52 31 21 0 0.62 5062 M @930
Question20 1 52 48 4 0 0.20 92.31 I |
Question21 1 52 16 36 0 0.47 30.77 \
Question22 1 52 46 6 0 0.30 8s.4c NN |
Question23 1 52 35 17 0 0.41 il 200000 I
Question24 1 52 33 19 0 0.43 634c NN 4 |
Question25 1 52 43 9 0 0.39 8260 NN |
Question26 1 52 39 13 0 0.67 7500 NN @2 |
Question27 1 52 45 7 0 0.47 86.54 HIIIINNNENENGNGN |
Question28 1 52 36 16 0 0.46 6023 NN @4
Question29 1 52 43 9 0 0.03 8260 NN |
Question30 1 52 50 2 0 0.37 96.15 NG |
Question31 1 52 35 17 0 0.53 il 200000 I
Question32 1 52 31 21 0 0.47 Xy I
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Question Summary Statistics Reliability
Question Points| Graded Correct Incorrect R b . P0|_nt Percent
esponse Biserial Correct

Question33 1 52 41 11 0 0.57 7ess I |
Question34 1 52 42 9 1 0.67 vl 2200 N
Question35 1 52 45 7 0 0.49 86.54 NG |
Question36 1 52 18 34 0 0.32 34.62 1 \
Question37 1 52 31 21 0 0.39 Xy 020202
Question38 1 52 44 8 0 0.36 8462 NN |
Question39 1 52 41 11 0 0.59 788 M @ |
Question40 1 52 21 31 0 0.35 40.38 IS |
Question41 1 52 20 32 0 0.25 38.46 INNEGNG \
Question42 1 52 37 15 0 0.60 715 I 2
Question43 1 52 26 26 0 0.42 5000 NN @490
Question44 1 52 33 19 0 0.43 xpia 2 I
Question45 1 52 24 28 0 0.20 46.15 NG \
Question46 1 52 24 28 0 0.28 46.15 NG |
Question47 1 52 20 32 0 0.15 38.46 NG |
Question48 1 52 36 16 0 0.31 Pl 22020202
Question49 1 52 42 10 0 0.59 so.77 N $ |
Question50 1 52 24 28 0 0.24 46.15 NG |
Question51 1 52 25 27 0 0.18 48.08 NG |
Question52 1 52 34 18 0 0.32 653 NN 9 |
Question53 1 52 23 29 0 0.44 4423 N |
Question54 1 52 41 11 0 0.54 788 M @ |
Question55 1 52 49 3 0 0.19 94.23 I |
Question56 1 52 50 2 0 0.07 96.15 NNNENGEGEGEGEGEEEEEEE
Question57 1 52 48 4 0 0.51 92.31 NN |
Question58 1 52 46 6 0 0.45 8s.46c NN |
Question59 1 52 44 8 0 0.50 8462 NN |
Question60 1 52 43 9 0 0.39 8269 NI |
Question61 1 52 42 10 0 0.45 so.77 N $ |
Question62 1 52 49 3 0 0.46 94.23 I |
Question63 1 52 25 27 0 0.33 48.08 NG |
Question64 1 52 36 16 0 0.40 6923 NN 49 |
Question65 1 52 49 3 0 0.36 94.23 NN |
Question66 1 52 40 12 0 0.39 7602 NN @2 |
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Question Summary Statistics Reliability
Question Points| Graded Correct Incorrect R b . P0|_nt Percent
esponse Biserial Correct

Question67 1 52 4 48 0 -0.48 769 H |
Question68 1 52 30 22 0 0.58 5760 NN @930 |
Question69 1 52 32 19 1 0.56 o154 N @920 0
Question70 1 52 35 17 0 0.49 ey @ 209090909292
Question71 1 52 29 23 0 0.40 5577 300
Question72 1 52 37 15 0 0.32 715 I 2
Question73 1 52 39 13 0 0.41 7500 NN @2
Question74 1 52 41 11 0 0.26 78 I |
Question75 1 52 30 22 0 0.25 5760 NN @490 |
Question76 1 52 33 19 0 0.57 Xy I
Question77 1 52 32 20 0 0.31 6154 NN @49 |
Question78 1 52 41 11 0 0.19 78 I |
Question79 1 52 32 20 0 0.47 6154 N @93 |
Question80 1 52 39 13 0 0.46 7500 NN @2
Question81 1 52 31 21 0 0.33 Xy I
Question82 1 52 34 18 0 0.38 653 NN 9 |
Question83 1 52 46 6 0 0.30 8s.4c NN |
Question84 1 52 18 34 0 0.43 34.62 N |
Question85 1 52 41 11 0 0.04 788 M |
Question86 1 52 44 8 0 0.42 462 NI |
Question87 1 52 44 8 0 -0.01 s462 NN |
Question88 1 52 20 32 0 0.25 38.46 IIINENEGNG |
Question89 1 52 42 10 0 0.26 go.77 NN
Question90 1 52 24 28 0 0.31 46.15 NG |
Question91 1 52 9 43 0 0.36 17.31 1N |
Question92 1 52 42 10 0 0.23 vl 2200 N
Question93 1 52 43 9 0 0.16 8260 NN
Question94 1 52 25 27 0 0.45 48.08 NN |
Question95 1 52 16 36 0 0.35 30.77 1N |
Question96 1 52 36 16 0 0.52 6023 NN @4
Question97 1 52 26 26 0 0.33 5000 NN @490
Question98 1 52 28 24 0 0.08 53865 N 493 |
Question99 1 52 46 6 0 0.40 gss.4c NN |
Question100 1 52 30 21 1 0.18 5769 I @430
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